Anmartbl  (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroBelueHck (4162)22-76-07
BpsAHck (4832)59-03-52
BnagneocTtok (423)249-28-31
BnapukaBkas (8672)28-90-48
Bnaaumup (4922) 49-43-18
Bonrorpas (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89

WMxeBsck (3412)26-03-58
NBaHoBO (4932)77-34-06
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonowmHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Ninneuk (4742)52-20-81

Kuprususa (996)312-96-26-47

MaruuTtoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck  (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41
HwxHuii HoBropoa (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Hosabpbck (3496)41-32-12
HoBocunb6upck (383)227-86-73
Hosbpbck (3496)41-32-12

Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
MckoB (8112)59-10-37

Poccua  (495)268-04-70

https://kompass.nt-rt.ru || kaf@nt-rt.ru

Mepmb  (342)205-81-47
PocToB-Ha-floHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CapaHck (8342)22-96-24
Cankr-MNeTtepbypr (812)309-46-40
CapatoB (845)249-38-78
CeacTonons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBponosnb (8652)20-65-13
ChbIKkTbIBKap (8212)25-95-17
CypryT (3462)77-98-35

Tam608 (4752)50-40-97

KasaxctaH (772)734-952-31

Teepb (4822)63-31-35
TonbaTn (8482)63-91-07
Tomck  (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Ypa3 (3012)59-97-51
YnbsiHoBCK (8422)24-23-59
Yoha (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapsbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Yuta (3022)38-34-83
AkyTck (4112)23-90-97
fpocnaBnb (4852)69-52-93

[lnacTnH4YaTble HacoCbl OUKCUPOBAHHOIO padoyero
obbema B3 cepum T6C, T6D, T6E, T6CC, T6DC, T6ED

Fixed Displacement Hi-Pressure Vane Pumps

T6C> TeD. TeE> Te6CC, Te6DC, T6EC> T6ED.T6ER

T6C T6D T6E
T6CC T6DC T6EC
T6DR T6ER TEDRE™  Symbol
mmmm HOW TO ORDER
T6C 014 R 00 B 1
SIM nmo-xto aenfi «eTa* mom o m
MODEL  CAMRING SHAFT ROTATING PORTSTYPE  DESIGN NO. ?'LSfEA'- CLASS
T6C 7 P DIRECTION =
gﬁﬁ%ﬁ‘,’m?ﬁf& %i%igw,,mm 1=@ KEYED (SAE B) (www FOR MINERAL OIL)
- , - i 2-m KEYED (NO SAE) =S4
006=31.9 fimin ~ 020=95.7 rimin 2= KEYED (NC acp  VIEW ON SHAFT END vo=eni
008=39.6 /mm  022=105.4 r/min 00=STANDARD FOR THE RESISTANT FLUIDS
010=51.1 /min 025=118.9 e/min 4=<lU SPLINED (SAEEE) ¢ ockwiISE = R )
012=55.6 £fmin  028=133.2 r/min =&Otit oW HoAuw aw
_ . . 0 a
014=69.0 /min  031-150.0 r/min COUNTER-CLOCKWISE R o
AND FIRE RESISTANT FLUIDS)
SPECIFICATION
nw i 51nn
MAXIMUM SPEED MAXIMUM PRESSURE
ww mm THEORETICAL
MODEL ~SERIES  DISPLAGEMENT MNIMUM  HFOHFL  HF-3HF-4 HF-O.HF-2 HF-1,HF-4,HF-5 HF-3
HF-2 HF-5 nt Int. Cot. nt Cont
Mirev rom 'Dm mm oar her bar bar ber bar
005 18.0
006 213
008 26.4
010 34.1
012 371
014 460 0 1800 275 240 21 175
T6C 017 58.3 600 Q 175 140
020 63.8
022 703
025 79.3
88.8 2500
028 210 160 160
031 100.0
014 46.0
017 58.2
020 66.0
024 795
028 89.7 2500
o 031 98.3 240 210 210 175 175 175
035 111.0 600 1800
038 120.3
042 136.0
045 145.0 2200
050 158.0 210 160 160
042 132.3
045 142.4
050 158.5
052 164.5 240 210 210 175 175 140
T6E 062 196.7 600 2200 1800
066 213.3
072 227.1
085 265.0 140 80 80 80 75 60


https://kompass.nt-rt.ru
mailto:kaf@nt-rt.ru

T6C Dimensional Drawing

Port Type

Dimension

1745

Shaft code 3
SAE B splined shaft
Class 1-J498 b 16/32
d.p. -13 teeth 30°
pressure angle flat root
side fit

ell W * nj j-Mfriiw
« Specification is subjected to change without notice.



T6D Dimensional Drawing

Ports Type
S=Suction port P=Pressure port
Dimension
2125
KEY7.94
7/16"-14UNC x 0.88deep-4
1/2"-13UNC x 0.94deep-4 (M12x22.3) o
Sso 1.7
48
2.3 x45° 2.3 x45'
Shaft Code 3 Shaft COde 4
SAE C splined shaft no SAE splined shaft
P Class 1-J498 b Shaft Code 2

Class 1-J498 b
12/24 dp. -14 teeth
30° pressure angle

12/24 dp. -14 teeth (Keyed no SAE)

30° pressure angle

Flat root side fit. Shaft torque limits (mf/rev x bar)

Flat root side fit.
Pump Shaft  Vp X p max
1 43283
2 34590
T6D
3 61200
4 61200
Wl W &

. Specificatidn is subjected to change without notice.



Ports Type
00 01 02 03
P P-S p P
S=Suction port P=Pressure port
Dimension
Shaft code 3 Shaft code 4
SAE C Splined shaft SAE CC Splined shaft
class 1 - J498b 12/24 class 1 - J498b 12/24
dp. -14 teeth 30° dp. -17 teeth 30°
pressure angle. Flat root pressure angle. Flat root
side fit. side fit.

T6E Dimensional Drawing

Shaft Code 2
(Keyed no SAE)

+0

shaft torque limits(mf/rev x bar)

Pump Shaft
1
T6E 2
3
4

Vp x P max.
54555
34590
61200
61200

« Specification is subjected to change without notice.



T6CC Dimensional Drawing

Dimension

A
v
¢
it
2-014.3 HOLES
E -4 HOLES)
K -4 HOLES 3/8-16 uncx 0.75 DEEP  Shaft Code
(M10x 19) (Keyed on SAE
245
' M8x16 DEEP
Shaft code S
Shaft code 3 Shaft code 5 DIN 5462
SAE BB Splined shaft ~ SAE B Splined shaft B8x32x36
class 1-J498b 16/32 class 1-J498 b 16/32
dp.-15 teeth 30° dp. -13 teeth 30°
pressure angle. Flat root pressure angle. Flat root MOUNTING TORQUE 45 ft.Ibs Shaft Code 2
side fit. side fit. ( Keyed SAE BB)
Alternate Port
N S=2 12
F 1064 8R9 Shaft torque limits! mf/rev x bar)
G 61.9 50.8
OH 76.2 63.5 Pump Shaft  Vp x p max.PI+P2
Code 00 01 oM wo 10 n M W1 1 14300
A 524 476 52.4 47.6 52.4 476 52.4 47.6 2 21420
B 262 222 262 222 262 22 262 222 Tecc 2 22670
AC 25.4 19.0 254 19.0 254 19.0 254 19.0
74.7 76.2 74.7 76.2 74.7 76.2 74.7 76.2 5 20600

D
E  3/8-16UNCx19ckep  MIXI9ceep  3/8"-I6UNCx19deep  MIOK19deep
K 5/8-1IUNCX284desp  MI6x284desp  12-13UNCX239ckep  MI2x24.0 ceep

Cinrfj 1WA jjidiii
« Specification is subjected to change without notice.



Dimension

212 4

/MOUNTING TORQUE 138ft. Ibs
(187 Nin)

55.2 1.7
48
38.1 2.3 x45-

T6DCW

Shaft code 3  Shaft code 4 Shaft code
SAE C Splined shaft NO SAE Splined (Keyed no SAE
class 1 - J498b shaft class 1 - J498
12/24 d.p. -14 teeth b 12/24 d.p. -14
30° pressure angle. teeth 30° pressure
Flat root side fit. angle. Flat root side

fit.

T6DC Dimensional Drawing

986 83.6
ke ™ : ®o5

M 10x20 DEEP

(MOUNTING TORQUE 50ft.Ibs
(68 Nm)

Shaft Code 1

3/8"-16UNC x 0.75 DEEP 15.7 (Keyed SAE C)

7/16"-141JNCx 0.88 DEEP
Shaft torque limist (m~/rev x bar) (M12 x 22.3) Shaft Code 2

Pump  Shaft Vpx p max.Pl+P2

2
TeDC 3
4
5

(Keyed no SAE)

43240 Alternate connect, variables
34590 00 & MO 01 &M1
61200 A 1031 (26.2) 0.874(22.2)
61200 B 2.06(52.4) 1.874(47.6)
55600 Cc 1.0(254) 0.75 (19.05)

« Specification is subjected to change without notice.



T6EC Dimensional Drawing

Dimension
331.6
1/2"-13UNC x 0.92 deep
3/8"-16UNC x 0.75 deep (M12 x 23.4)/
(M10 x 19) 35.7 KEY7.94 10n,
55.9 62.2
38.1 315
Shaft code 3 Shaft code 4 Shaft Code 2
SAE C Splined shaft SAE CC Splined 5/8"-IIUNCX 1.16 deep (Keyed no SAE)
class 1-J498 b shaft class 1-J498 b
(M16 x 29.5) .
12/24 dp. -14 teeth 12/24 dp. -17 teeth Shaft torque limits (mf/rev x bar)
30° pressure angle. 30° pressure angle. Pump  Shaft Vp xp max.Pl+P2
Flat root side fit. Flat root side fit. 1 72306
2 34590
T6EC 3 61200
4 76376
eLLILLILLL °

« Specification is subjected to change without notice.



Dimension

Shaft code 3
SAE C Splined shaft
class 1-J498 b
12/24 dp. -14 teeth
30° pressure angle.
Flat root side fit.

T6ED Dimensional Drawing

Shaft code 4

SAE CC Splined
shaft class 1-J498 b
12/24 dp. -17 teeth
30° pressure angle. Pump Shaft
Flat root side fit. i

(M16 x 30)
7/16"-14UNC x 0.94 DEEP
(M12 x 24)

T6ED 2
3
4

Shaft torque limits (mf/rev x bar)

KEY9.52 .0°05

Shaft Code 1
(Keyed SAECC)

1/2"-131JNCx 0.92 DF.F.P

(M12 x 23i5)
Shaft Code 2

Vp x p max.PI+P2 (Keyed no SAE)

72306
34590
61200
76376

elUILLILL - AMTAAU T

« Specification is subjected to change without notice.



T6ER Dimensional Drawing

Dimension
MAX BENDING
MOVEMENT
1200 Nm
ADAPTER SAE "C" M10 x 24 ONLY Shaft code 1
MOUNTING TORQUE 53 ft.Ibs (Keyed SAE CC)
MOUNTING TORQUE 138 ft.Ibs
1/2" 13UNC x 0.92 DEEP (187 Nm)
5/8" IUNCx 0.94 DEEP (M12x23.4)
55.2
27.4
Shaft code 3
SAE C splined shaft Shaft coc_le 4
Class 1-J498 b SAE CC splined
12/24 dp-14 teeth shaft Class 1-J498 b
30° pressure angle 12£24 dp.-17 teeth
flat root side fit 30° pressure angle
flat root side fit
Shaft torque limits (m/Yrev x bar) Adapter SAE "A" SAE "B" SAE "C
Shaft VXp max. Coupling drive  Vpxp max.  Coupling drive SAE A SAE 1lteeth SAEB SAEB SAEBB SAEC
1 80560 SAE A 11000 Numder of teeth 1 13 13 15 14
3 61200 SAE B 20600 Pitch 16/32 16/32 16/32 16/32  16/32 12/24
4 120210 SAEBB 32670 Pressure angle 30° 30° 30° 30° 30° 30°
SAE C 66480 Major dia.(min) 15.875 19.05 22225 22.225 25.400  31.750
SAE -11 teeth 15850 Minor dia.(min) 12.700 16.0 19.134 19.134 22268  27.585
Adapter D1 D2 LI L2 L3 L4 L5
SAE A 82.65/82.60 M10 24 1064 110 7.9 320 2720
SAE B 101.70/101.65 M12 28 1460 160 7.9 460 286.0
SAE C 127.10/127.05 M16 181.0 160 7.9 560 296.0

Anmartbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroselueHck (4162)22-76-07
BpsaHck (4832)59-03-52
BnagueocTok (423)249-28-31
Bnapaukaskas (8672)28-90-48
Bnagumup (4922) 49-43-18
Bonrorpapg (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Mxesck (3412)26-03-58
MBaHoBO (4932)77-34-06
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
KanunuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Nuneuk (4742)52-20-81

Kuprnsus (996)312-96-26-47

MaruuTtoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41
HuxHuii HoBropog (831)429-08-12
HoBoky3HeLK (3843)20-46-81
Hosbpbcek (3496)41 -32-12
Hosocubupck (383)227-86-73
Hosbpbcek (3496)41 -32-12

Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16
MeTposaBogck (8142)55-98-37
Mckos (8112)59-10-37

Poccusi (495)268-04-70

https://lkompass.nt-rt.ru || kaf@nt-rt.ru

Mepmb  (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PsizaHb (4912)46-61-64
Camapa (846)206-03-16
CapaHck (8342)22-96-24
CaHkT-MNeTepbypr (812)309-46-40
CapatoB (845)249-38-78
CeacTononb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54
Coun (862)225-72-31
Craspononb (8652)20-65-13
ChbIKTbIBKap (8212)25-95-17
CypryT (3462)77-98-35
Tam6oB (4752)50-40-97

KasaxctaH (772)734-952-31

Teepb (4822)63-31-35
Tonbstn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Ya3 (3012)59-97-51
YnbaHoBcK (8422)24-23-59
Ya (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapsbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Yura (3022)38-34-83

AkyTck (4112)23-90-97
fApocnasnb (4852)69-52-93


https://kompass.nt-rt.ru
mailto:kaf@nt-rt.ru

